
----------------------------------------------
1 - resp7gev2tev.ps and resp13gev2tev.ps -

for 3 value of the Y = 0mm, 20mm and 28 mm
and for 2 values of energy - 7 and 13 GeV.
X = 0. There are 2 cases - when we have interaction
in the converter (Nch - number of the charge particles >0)
and have no interaction (Nch - number of the charge particles =0).

2 - edepos713gvY2.ps - mean deposite energy as function of the Y
X = 0. Energy of the gamma = 7 and 13 GeV.
(Efibr>0 - deposite energy in the silicon >0)
(Efibr=0 - deposite energy in the silicon =0)

3 - edepos713gvX.ps - mean deposite energy as function of the X.
Y=0. Energy of the gamma = 7 and 13 GeV.

4 - escaleY.ps - mean deposite energy as function of the gamma
energy for 3 points in Y.

5 - chi2ndf713gv2.ps - chi2/(number deegre of freedom) as function
of the Y.

6 - etay713gv.ps - (eta-Y) transformation for point like gamma
beam (delta_Y = 0).

Geometry of the layout (Converter= 1 Xo) -

a) - converter - Xplane = 2.06 cm
b) - converter - Yplane = 2.43 cm
c) - converter - Calorimeter = 3.25 cm

-------------------------------------------







Look - display program Date  7/10/2004
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Look - display program Date  5/10/2004
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Look - display program Date 24/06/2004
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FIT of 3 points:
chi2/ndf = 16.4586/2
cl=266.718E-6
Par Value (Error):
P1=4.56003(0.276737)
P2(F)=33.



Look - display program Date  4/10/2004
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Look - display program Date 24/06/2004
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FIT of 8 points:
chi2/ndf = 262.382/8
cl=0.
Par Value (Error):
P1(IE)=0.638882
P2(IE)=1.56128
P3(IE)=8.65169
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FIT of 9 points:
chi2/ndf = 513.183/6
cl=0.
Par Value (Error):
P1=0.646218(0.00309646)
P2=1.58524(0.0122387)
P3=8.69106(0.0410376)


